3 (Sem-4) CHM

2014

CHEMISTRY

( General )

Full Marks : 40

Time : 2 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. (@) How will you bring out the following
conversions? Show with equations only

{any four) : 1x4=4
Tes  fral oSSR (RN WORI? (e
AP @ (ry9d (R @I wifko)

(i) 1-Propanol to 2-propanol

1-29I17eTq of@ 2-20 9[1we]

(i) Phenol to salicylaldehyde

(iii) Ethyl alcohol to ethylamine
FIBe o7 T 1] RGN
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(2)

(iv) Butane-2-one to propanocic acid
RTCB-2-1 [0 2o fis «foe
(v} Ethanoic acid to acetone
B RT Gbwq o @fob’w
(vi) Nitrobenzene to m-nitroaniline

TG @GR A m-iRy @A

(b) Give reasons, why (any three) : 1x3=3
e woefian, 159 ([ e fsfibn) -
(i) Formic acid is stronger acid than
acetic acid.

afofoe qfbey womre FafF aibe @R e |

(ii) Ethylamine is more basic than

aniline.
afifem gEmTe BAREGNRT @R AR

(iii) Phenol is acidic, but does not react
with sodium carbonate.

frm wifie, (R oRam IREny @
i e )

(iv) Ethanol has higher boiling point
than diethyl ether.

TR BT TES BAMAT TS
@M
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(3)

2. (a) How are diazonium ions formed? Write
two synthetic applications of aryl
diazonium salts. 1+2=3

TR GREEET B eI W7 «G9iEE
IR R SO YO1 TReIRS 5 o |

Or / %31
. Complete the following chemical
equations : 1%6x2=3
weTS firan I TR ey <

. @ 6 \

0 @N2c1+ <o> _NaOH _,
CKS)

(ii) @—NQG + @—OH 0 sy

(b) Explain how fructose can reduce the

following : 1%4x2=3
308 o MAas @ [Refie w3
41

(i) Tollens’ reagent

e Rees

(ii) Fehling’s solution

FEfoRT ¥
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(4) (S)

Or / & (ii) Esterification
What are carbohydrates? Give an open GBI
chain and cyclic structure of D-glucose.
. (iii) Benzoin condensation
1+2=3
THANGRE T2 D-gFH T& R A SEEIECSRTIRED
ST T YR O ST TS R (iv) Perkin’s reaction
3. (@) Define the terms fats and oils. Give one QSO REITR
example of each. 1+1=2 (b} S i E ; . g
) entify A, B and C for the following
o e con qFiee o oqw, Fn e reactions : 1%x2=3
510 Trrael fam | \
pl A o R A, BN C e 4 :
Or / M3 Br.
What is an amino acid? What dees it form (i) @-COOH AR > A ks >B
on polymerization? 1+1=2 NaOH /B,
— L =5 C

G’ @fow T [ 7 320 RGO TS [

BeetE T ? (i) CH3CH,OH PCls o o KACN > B
(b) What are alcohols? How do you classify HQO/HEB
. —
them? Give one example of each class.
1+1+2=4 .
/ 3 ! 5. (a) Define order and molecularity of a
e Ze 57 2BeF (@IS MRS 41 272 reaction. For the reaction
TR (INT QT T T | 2NO + O, — 2NO,; determine the order
and molecularity. 1+1+1=3
4. (a) Write short notes on (any two) : 2Yax2=5
() \ e ’ R @ wF weRee qEeE Bogee
v i forst (R et o) ONO+0, »2NO, RfFIGR @ =%
Hefirel Sfered |

(ij Cannizzaro reaction
e’ [
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(b)
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(6)

Or / 121
Define and explain the term Tyndall

effect. 1+2=3

oeest ey e el == e 547 |

What are the factors that affect the
adsorption of a gas by solid? Write briefly.

17 B O T O Sl (i B P e e

aelfe w41 FeFRT Racy vats forar |
Or / 21

Define law of mass action and give its
expression for a general reaction. What
are the differences between law of mass
action and the rate law?

SO R T B e 2mE T Rt
AP o | e feR @ e oSt e
IErS 4Pl A1FPIR fora |

State and explain Ostwald dilution law.
SPBARGY AYFI NSCH! BT =i 25 3941 |

What is the minimum volume of water
required to dissolve 1 g of Mg(OH), at
298 K?

[K sp for Mg(OH), is 1-4x 107'!; atomic wt.
of Mg =24-03,0=15-99, H = ]

( Continued )
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(7))

298 K @WIaR 1 g Mg(OH), ¥gs s
foTroy 9 1919 s 379 2

[Mg(OH), T K, I 1-4x 1071 sz
©§ Mg =24-03, 0=15-99, H=1]
Or / i34l

Calculate the pH value of the following

. solutions :

(i) 0-0001 M NaOH
(i) N /50 HCl
eTe WAl TR0 pH I T ey 41

() 0-0001 M NaOH
(i) N /50 HCI

* Kk Kk
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